
Hes so
VALAIS

WALLIS

Couverture

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P001-Couverture.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

20.05.2022
Echelle/Massstab

2 : 1

A3

    1/1

36,209 g

P001
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Acier

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

30

32 52



A-A ( 1 : 1 )

B-B ( 1 : 1 )

A A

B

B

Hes so
VALAIS

WALLIS

Bati Chambre

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P002-Bati_chambre.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

20.05.2022
Echelle/Massstab

1 : 1

A3

    1/1

85,476 g

P002
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

53

6X M3x0.5

3

32

36,7

M3x0.5

3,4

1,8

21,8
2

3,18

5,57

3
6

,2

3
6

,7

3
6 3
2

1,7

8,75
4X

606X

5
3

3

52
606X

48



A-A ( 2 : 1 )

A

A

Hes so
VALAIS

WALLIS

Corps Piston

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P003-Corps_piston.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

25.05.2022
Echelle/Massstab

2 : 1

A3

    1/1

15,277 g

P003
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

1
7

9
,0

3

1
,2

2

1
,3

5 1
,3

51
,3

5 1
,3

5

29,9
4

3 THRU

5

2

9
,1

5

R
1
0
,9

7

5

25,24

25,62

29,94



Hes so
VALAIS

WALLIS

Axe piston

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P005-Axe_piston.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

25.05.2022
Echelle/Massstab

10 : 1

A3

    1/1

0,471 g

P005
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

3

4,32 0,4 7,67 0,4 3 0,4 7,67 0,4 0,74

0
,1

5



Hes so
VALAIS

WALLIS

Soupape IN

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P006-Soupape_IN.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

25.05.2022
Echelle/Massstab

5 : 1

A3

    1/1

0,001 kg

P006
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

8

12

1
8

3

2

2 X 45  C
hamfer



Hes so
VALAIS

WALLIS

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P006-Soupape_OUT.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

29.05.2022
Echelle/Massstab

5 : 1

A3

    1/1

0,001 kg

P006
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

12

3

8

1
3

2 X 45  Chamfer



A-A ( 2 : 1 )

B-B ( 2 : 1 )

K ( 10 : 1 )

L ( 5 : 1 )

M ( 10 : 1 )

A

A

BB

K

L

M

Hes so
VALAIS

WALLIS

Chapeau Chambre

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P011-Chapeau_chambre.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

02.06.2022
Echelle/Massstab

2 : 1

A1

    1/1

46,069 g

P011
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

53

43

6XM
3x0.5

30

2
1

1
5

3
3

R
0,

2

R
0,6

2,4

2
,3

10

10

40,4

M3x0.5

3,4

3,2

0
,6

G
 1

/4
-1

9

1
3

,1

3 6,7

1
6

,5

51

1,28

5

3
,5

R0,3

2,2

R0,3

48

R2

9

6

4
0

,4

1

R0,2



Hes so
VALAIS

WALLIS

Bielle

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P012-Bielle.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

25.05.2022
Echelle/Massstab

2 : 1

A3

    1/1

29,172 g

P012
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

8

18

8

6
4

,8

4

14

24



A-A ( 1 : 1 )

A
A

Hes so
VALAIS

WALLIS

Vilbrequin

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P015-Vilbrequin.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

25.05.2022
Echelle/Massstab

1 : 1

A3

    1/1

200,182 g

P015
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

R23

R
1
0

M4x0.7

2
0

R
1

R1

100

2,5

R3
8

3055,1923,6324

M
16

x2
 - 

6g

1
2

1718
4

4
,9

4

1
6 1
2

R1

R1

6

4
2



C-C ( 1 : 1 )

E-E ( 1 : 1 )

F-F ( 1 : 1 )

C

C

E

E

F

F

Hes so
VALAIS

WALLIS

Carter Corps

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P016-Carter_corps.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

25.05.2022
Echelle/Massstab

1 : 1

A2

    1/1

518,423 g

P016
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

7
5

60

47

6XM4x0.7

8XM
4x0.7R5

4X

5
5

17,5 5

80

5
4

0
5

60
6X

53,5

4
3

M4x0.7

M4x0.7

M10x1

2 X
 4

5
 C

ham
fe

r

40

3
0

24,98

2

2

4,56X

33

R44X

R30

1
0

4
0

1
0

2 4



Hes so
VALAIS

WALLIS

Carter Chapeau

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P017-Carter_chapeau.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

29.05.2022
Echelle/Massstab

2 : 1

A3

    1/1

52,942 g

P017
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

8
0

5

4,5
8X

30

48

606X

6XM3x0.5

1
7

,5
3

5

5

5

12

R
5

4X



Hes so
VALAIS

WALLIS

Joint CarterChapeau

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P018-Joint_carter_chapeau.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

29.05.2022
Echelle/Massstab

2 : 1

A3

    1/1

9,398 g

P018
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Polyt trafluoro th ne

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

8
0

2

R5
4X

R44X

8X
3,24

5
9

8
,5

1
7

,5

5 5 4 16



A-A ( 2 : 1 )

A A

Hes so
VALAIS

WALLIS

Chapeau Tete Chambre

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P019-Chapeau_tete_chambre.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

29.05.2022
Echelle/Massstab

2 : 1

A3

    1/1

13,139 g

P019
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

2

9

13

5

13

5
3

1 X 45  Chamfer

3,4
6X

8
,7

5

48

606X



Hes so
VALAIS

WALLIS

Fixation Roulement Vilebrequin

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P020-Fixation_roulement_vilebrequin.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

11.06.2022
Echelle/Massstab

10 : 1

A3

    1/1

0,739 g

P020
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

14

4,5

2

R0,5



A-A ( 1 : 1 )

A A

Hes so
VALAIS

WALLIS

Bouchon Carter Vilbrequin

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P021-Bouchon_carter_vilbrequin.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

10.06.2022
Echelle/Massstab

1 : 1

A3

    1/1

23,098 g

P021
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

60

4,56X
3

53,5

606X

4
5

1/8 - 27 NPT

120,5 X 45  Chamfer



Hes so
VALAIS

WALLIS

Joint Carter Bouchon Vilbrequin

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P022-Joint_carter_bouchon_vilbrequin.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

10.06.2022
Echelle/Massstab

1 : 1

A3

    1/1

4,028 g

P022
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Polyt trafluoro th ne

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

606X

53,5

47

60

4,56X

2



A-A ( 1 : 1 )

A

A

Hes so
VALAIS

WALLIS

Cage Arbre

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P023-Cage_arbre.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

11.06.2022
Echelle/Massstab

1 : 1

A3

    1/1

138,252 g

P023
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

6XM4x0.7

23

22

33

43

6
9

1
5

5
0

10

5

60
6X

33

23

23



Hes so
VALAIS

WALLIS

Entretoise Roulements

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P024-Entretoise_roulements.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

11.06.2022
Echelle/Massstab

4 : 1

A3

    1/1

5,646 g

P024
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

17

18,5

50



Hes so
VALAIS

WALLIS

Joint Carter Arbre

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P025-Joint_carter_arbre.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

11.06.2022
Echelle/Massstab

2 : 1

A3

    1/1

3,803 g

P025
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Polyt trafluoro th ne

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

43

23

33

2

60
6X

6X
4,5 THRU



A-A ( 2 : 1 )
A

A

Hes so
VALAIS

WALLIS

But e Carter Arbre

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P026-But e_carter_arbre.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

11.06.2022
Echelle/Massstab

2 : 1

A3

    1/1

6,808 g

P026
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Aluminium

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

43

4,5
6X

33

2
1

2

0,65

60
6X



Hes so
VALAIS

WALLIS

Segment

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P027-Segment.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

15.06.2022
Echelle/Massstab

2 : 1

A3

    1/1

1,648 g

P027
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Acier

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

R15

R13

2

1,2



A-A ( 5 : 1 )

H ( 4 : 1 )

A

A

H

Hes so
VALAIS

WALLIS

Segment racleur

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P028-Segment_racleur.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

15.06.2022
Echelle/Massstab

2 : 1

A3

    1/1

N/A

P028
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Acier

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

R13

R
15

2

0,4 0,4 0,4

2



A-A ( 5 : 1 )

A

A

Hes so
VALAIS

WALLIS

Ressort

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P029-Ressort.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

15.06.2022
Echelle/Massstab

5 : 1

A3

    1/1

0,746 g

P029
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Acier

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

1
8

0,9

3

4,8

12 spires



A-A ( 10 : 1 )

A

A

Hes so
VALAIS

WALLIS

Ressort

Fichier

Datei C:\Users\remi\OneDrive\Documents\Cours\05-HEVS\S2fb\mechanic\CCo\project\Compressor\Drawing\P030-Ressort.idw

Dessin /
Gezeichnet

Contr l /
Gepr ft

HER
ZAE

15.06.2022
Echelle/Massstab

10 : 1

A3

    1/1

0,437 g

P029
No./Num.

Sous-titre/Untertitel

Titre/Titel

R vision/ 
nderung 

No. de Projet/Projektnummer:

Mati re/Rohstoff:

Acier

Refer to protection notice ISO-16016

Feuille/Blatt

Masse
Gewicht

3

4,8

9
,9

4

0,9

7 Spires


